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Thevenin’s 
theorem

• Find 𝑅𝑇𝐻 when all sources =0. 

• By using , earlier techniques to find 𝑉𝑇𝐻
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Exercise

Find value of I?



Exercise

Find value of I?

𝑅𝑇𝐻 =
12 ∗ 4

12 + 4
= 3Ω



Exercise

Find value of I?

𝑉1 =
12 ∗ 4

16
= 3𝑉

𝑖1 =
2 ∗ 6

16
= 0.75𝐴

𝑉1 = 0.75 ∗ 4 = 3𝑉

𝑉𝑇𝐻 = 3𝑉 + 3𝑉 = 6𝑉



Norton’s theorem
• Find 𝑅𝑇𝐻 when all sources =0. 

• By using , earlier techniques to find 𝑉𝑇𝐻
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Exercise Find value of I (NORTON )?
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Exercise
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𝑖1 =
15

6
= 2.5𝐴

𝑖1 = 4 ∗
3

6
= 2𝐴

𝑖1 = 2.5 + 2 = 4.5𝐴



Exercise
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𝑅𝑁 =
6 ∗ (3 + 3)

12
= 3Ω = 𝑅𝑇𝐻



Exercise Find value of I (Thevenin )?
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𝑣1 =
15 ∗ 6

12
= 7.5𝑉

𝑖1 = 4 ∗
3

12
= 1𝐴

𝑣1 = 1 ∗ 6 = 6 𝑉

𝑣𝑇𝐻 = 7.5 + 6 = 13.5 𝑉 = 𝑅𝑇𝐻 ∗ 𝐼𝑁



Challenge (use Norton & Thevenin)
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𝑣𝑇𝐻 = 19.2 𝑉 𝑅𝑇𝐻 = 5Ω

Challenge (Thevenin)



Challenge (NORTON)

• 𝐼4 = 2.3𝐴 ⇒  𝐼1 = 1.92𝐴 𝑅𝑇𝐻 = 5Ω

• 𝐼1 = 1.92𝐴 ⇒  𝐼𝑁 = 3.84𝐴 𝑅𝑇𝐻 = 5Ω
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